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PART -1

Mathematics

For what values of A and p the system
of equations 2x +3y+5z =9,
7x+3y—2z=8, 2x+3y+Az=pn have
no solution ?

A. A#5u=5

B. A=5pu=9

C. A=5u=9

D. A#5 pn=9

In how many different ways can the
letters of the word 'MATHEMATICS'
be arranged such that the consonants
occur together?

A. 750
B. 3000
C. 70000
D. 75600

The point of intersection of
X X
R = [(2t-5)dt and Fy(x) = [2tdt
2 0

is:
A.

glRr Wik WIN gOlo

) w
N—

o-||"‘ c.n|cn

~

o
N
N———~

T

A T p o o Ot o fordr wefiee &
e 2x +3y +5z2 =9,
TX+3y—22=8, 2X+3y+Az=p HIg
T eI TEd 82

A. A#5u=5

B. A=5pu=#9

C. A=5p=9

D. A#5 u=9

758 'MATHEMATICS' % letters 3T fora-
TE T STHTET ST HehdT & STfeh consonants
T 91 T8?

A. 750

B. 3000
C. 70000
D

. 75600

RO = [(2t-5)dt T Fy(x) = [2tdt
2 0

A8

5'25
> (53)
* (39

> (13
5'25
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4. The angle between the tangents drawn L S S— y2 = da(x—a) T
from the origin to the parabola R

5 _ TS T%1 L@ o6 S T HI0T AT
y“ =4a(x-a) is:
(0]
A. 90° A0
B. 300 B 300
C.

C tan 1(&} tan_l(lj

2 2
D. 45° D. 45°

5. When the two regression lines will 5. 1o for ol & ford a1 weftarme W woTdt

coincide (where r is the coefficient of Bt (Tt r T T §):
correlation): s
A =0 A. 1=0
B. r=+05 B. r=+05
C. r=+1 C. r=+%1
D. r=09 D. r=09

6. 6.

If tan_lg = A then the value of sin A afe tan_lg =A @ dlsin A FTHE JG

is: Fifser:

A. § A. 3
4 4

B. § B. 3
5 5

C. ﬂ C. 4
5 5

D. l D. 1
4 4
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10.

A bag contains 5 brown and 4 white
socks. A man pulls out two socks. The
probability that they are of the same
colour is:

A 5
108

o

O
= o~
| ool‘-’" |

The value of
tan81°—tan 63°—tan 27°+tan 9° is
equal to:

Al
B. 2
C. 3
D. 4

If A and B are square matrices of order
3 such that |A|=—1,|B| =3, then the

value of [3AB|=......

A -9
B. —-81
C. -27
D. 81

The greatest term in the expansion of

(3+2x)50 where x =% is:

A. 5
B. 51
cC. 7t
D. 61

10.

T AT H 5 9L T 4 Hh TS T G B TH
=feh a1 Al fHerTetdT 81 39 =1d sl &
gTfreRdT gt foh 3 ST I Uk &€ T % &l

A 5
108

O

U
[y

tan81°—-tan 63° —tan 27°+tan9° KT A

.U.O!T’Pg/

A W N P

Itz A Td B, 3 3 % T STTE & eIk
|A| =-1,|B| =3 dT [3AB]| %1 H Err:
A. -9

B. -81
C. —27
D. 81

(3+2x)™° % TR # Heww UE SN SR
x=g A

5th
51
7th
6th

CoOw>
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11. At the point x = 1 the following function 11, feam e e e foig x = 1 TR
3 .
f(X){X -1 !f L<x<3 4 f(x):|:X3—l afd 1<x<3
x-1 if -8<x<1 x_1 aff -8<x<1
A. Continuous and differentiable A. Fided ud Srame
B. Continuous and not differentiable B. HiacT Ua asha T
C. Discontinuous and differentiable C. 3IHdcd Ug TThel=1
D. Discontinuous and not differentiable D. 3IHAcd Ud aehel-19 T8l
12. A card is drawn at random from a pack 12, qrereh 52 U H § Uk 1S A1GoAT {HehTedT
of 52 cards. The probability of drawing STaT 2 wmaﬁwmmﬁ;q—g
a card which is neither a heart nor a king .
o ?»‘léqa;mqn(Heart)a‘r,qTﬁﬁm
Kin :
Ao g)
13 A S
B. 4 1
' 3 B. i
13
c. 1o C. 10
13 E
D. i D. 1
13 13
13. 8 coins are tossed simultaneously. The 13. 8 forerer Ush G1Y 3BT 1A 8| 9 & A
probability of getting at least 6 heads is: 6 21 9TH S St T TRRreRdr 2
A. 57 A. 57
64 64
B. 229 B. 229
256 256
C. l cC. 7
64 64
D. 37 D. 37
256 256
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14.

15.

16.

The radius of the circle having its centre
at (0, 3) and passing through the foci of

2 2

the ellipse X—+y—:1 is:

A. 3 unit
B. 3.5 unit

C. 4unit

D. 12 unit

For solving linear programming
problem, the Simplex Method was
firstly developed by:

A. R. E. Gomory

B. Harold Kuhn

C. Vogels

D. George Dantzig

Find the coefficient of correlation
between x and y, for the following data:

x| 10|14 ] 18| 22 | 26 | 30
y [ 18 | 12 | 24| 6 | 30 | 36

14.

15.

16.

39 g 6 Fream = gnft e &% (0, 3)
2 0 o A %ﬂéﬂwﬁﬁra
HERRIEIGIES

A. 3TFE

B. 3.5%HE

C. 43%%

D. \iZ i

Wgeh i e g A 6 for
Simplex method T TEgH free foerfa
foRaT o

A. R. E. Gomory
B. Harold Kuhn
C. Vogels
D

. George Dantzig

ﬁﬂ@m%%’&, X ﬁ?y%ﬁ%aﬁ?{,
RS 0TI [T ShITSRI:

x | 10 ] 14 | 18 | 22 | 26 | 30
v | 18112 (24| 6 | 30 | 36

0
0.3
0.6

©c o w »

0.9
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17.  The area of parallelogram having 17.

% A A A
diagonals d; =3i+ j—2k and
% A A A
dr =i-3j+4k,is:

A. 1043 sq. unit

B. 53 sq. unit
C. 8sg. unit

D. 45sq. unit

18. The solution of the differential equation 18.

dy _X+y
dx
y(1)=1is:

satisfying the condition

A. y=xloge X+X

B. y=loge X+Xx

G =St ek ferepot

e
dy =3i+]—2K W dy =1-3)+4k , =
élﬂq;a gll I

A. 10V/3 TifgaiE

B. 53 wfgar
C. 8T 3oTg
D. 4 5ohTs

AdeheT GHIRT :_y:ﬂ T EA STT ST
X X
f y(1) = 1 condition 3T EgE HU:

A. y=xloge X +X

B. y=loge X+X

: 2
C. y=x|ogex+x2 C y =xlogg X + X
D. yzxe(x—l) D. y:Xe(x—l)

19. The degree and order of the differential 19. 39 ol oo aiEr ST 3187 x 3787 8,
equation of the family of all parabolas 3Th STTheT THIHT 3T HTd T FhITS AT
whose axis is x-axis, are respectively : Sl
A 1,2 A 1,2
B. 3,2 B 3.2
C. 23 C. 2,3
D. 2,1 D. 2,1

SPACE FOR ROUGH WORK / T% &t & forr sre
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20.

21.

22.

The value of cot[Ztan_1 (—j——} is:

A. 7

17

Find the regression line of x on y from 21.

the following data:
YX =24, Xy =44, ¥xy =306
sx? =164, 2y2 =574,n=4

A. x=0.467y+0.86
B. x=0.1001y+0.11
C. x=0.7924y +0.22

D. x=0.999y+0.11

In a linear programming problem the 22.

positive variables which are subtracted
from the left hand sides of the
constraints to convert them into
equalities are:

A. Slack variables

B. Surplus variables
C. Atrtificial variables
D

. Pivot variables

20.

cot[Ztan_1 (%) —%} T A S

A. 7

17

T ST |, x T y I AHTSOT @ 9T
EAISDE

XX =24, Xy =44, ¥xy =306

>x? =164, Ty? =574, n =4

A. x=0.467y+0.86

B. x=0.1001y+0.11

C. x=0.7924y +0.22

D. x=0.999y+0.11

ek ST T H, S e =,
TS & qiferfadt ot Sert ¥ M o o,
constraints o ST @TWI’&G’I%%, El
Eh??ﬂ%%

A. &iF sgiused

B. WY seiuacd

C. enfefrfrera fused
D. e seiused
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23. coso  sina 23. coso  sina
If A= and gfe A= LRI

—sino.  cosa —sino.  cosa

. k 0 . . k 0
A-adjA = 0 K then k is equal to A-adjA = 0 K A k 1 9T BN
A. 0 A 0
B. 1 B. 1
C. sinoa cosa C. sina cosa
D. cos2a D. cos2a

24. - - - > 24. - — - >
If |a|=10,|b|=2 and a-b =12, afd|a|=10,|b|=2 a9 a-b =12 ar
then the value of | ax b | is: | ax b | T HF A
A. 24126 A. 2126
B. 16 B. 16
C. 0 C. 0
D. 1 D. 1
25. Four coins are tossed simultaneously. 25. I fYernt Al Ueh AT SSTAT 77| 2 IS LT

What is the probability of getting 2 T3 e S T TRk SR B Y
2 heads and 2 tails?
A1 Al

8
B. 2 B. 2

8 8
C. 3 C.

. 2
D. 9 D. 9

8 ]

SPACE FOR ROUGH WORK / % &Td & for sre
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26. The solution of the differential equation 26.

27.

28.

d _ oy -
Y 32 42672 g
dx

A 46 = 26 1+ x3) +6c
B. 46%Y =3 +x%)+6c
C. 302Y —4(e® 1+ x3) +6c

D. 302y _ 263 + x3) +6c

The solution of the differential equation 27.
dz—g+5d—y+ 6y =0 with initial
dx dx
conditions y(0) =0, y'(0) =1
A. y= o=2X
B. y= e=2X | a=3X
C. y= e~2X _g=3X
D. y= o3
IR 28.

_)
Given the vector a and b , the angle

%
between which equals 120°. If | a | =3,

ﬁ
| b | =4, then length of the vector
_)

FTeTeheT HTRTIT j—)): =e3X"2Y 4 x2e7%Y
T & BT

4% = 2(e® +x3) +6¢

46 =3 +x%) +6¢

3e?Y = 4> +x%) +6¢c

©c o w >

3e?Y = 2(e® +x%) +6¢

Freferfae sfeeher wfieror 1 gt 31
2
#if: 9Y 1 5Y L6y 0 s

dx?  dx

gRfeTes gfdarer 2: y(0) =0, y'(0) =1

c o w >
N
b3
w
<

RATITRY & w b HEHE R
120°%19f% |2 | =3, | b | = 47 &fes

_)
%
2a—% ST 9T EIT:

- 3b .
2a——is;

2 A. 6\/§
A.

63 B. 703
B. 72 6 1
C. 45 . 45
D. 42 D. 442

SPACE FOR ROUGH WORK / % &Td & for sre
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29.  The order and degree of the differential 29. ay 23 a3y
2/3 3 Akt THIRT | 1+3-L | =4—2 T
- dy Y oo dx dx3
equation | 1+3—= =4—3 are: ' X
dx dx Ife Td T BI:
A. 2 A 2
1,— 14
3 L
B. 3,1 B. 3,1
C. 33 C. 3,3
D. 1,2 D. 1,2
30. The area enclosed within the curve 30. ¥ x|+ |y| =1 & o & 3 e B
X|+|y|=11is:
-+}y n 5 oo
A. i
V2 5. unit B. 1 dwm
B. 1sq. unit c
C. \/§sq.unit ' \/§am‘§ :
D. 2sq. unit D. 2 &g
31.  Maximum value of sinX+cosXx is: 31, sinx+CcosX o IToaH T &I
A 1 A1
B. 2 B. 2
C. 2 C. 3
D. i D 1
V2 2
32. - -9 ~10 - 32. n
If the coefficients of X arl]nd X" in af [2+3ij Fard x~0 o x10
X
the expansion of (2+§j are equal FTTE AT S I -
thenn=........ A 45
A. 45
B. 55 B. 55
C. 56 C. 56
D. 69 D. 69

SPACE FOR ROUGH WORK / % &Td & for sre
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33.

34.

35.

A bag contains 8 white and 2 black
balls, while another bag contains
2 white and 4 black balls. Two balls are
drawn from the first bag and put into the
second bag and then a ball is drawn
from the latter. What is the probability
that it is a white ball.
A 1

20
B. 7.

20
C. 5

130

D. 9

20

- A A A > A A A

If a=2i-j+k, b=i+2j-3k and
—> A A A

¢ =3i+Aj+5k are coplanar vectors,
then A is:

A 4

-4
2

o w

The ratio of the second and seventh of n
arithmetic means between — 7 and 65 is
1:7 then find n.

A. 6
B. 10
C. 11
D. 12

33.

34.

35.

T 9T 7 § W TH 2 A 1T T qE A
T 2 Hthe TS 4 el Tic @ &) JoH 9 @

2 Tie Teprerat fgdiar Ot 1 STer ST @ o
36 o1E U Tie, fedia 9t @ fehre star @
T SHEhT T TTTrehaT BT o 71 Tig e &

A 1

o
©

— R n A .
a=2i—j+k, b=i+2j-3k wi
=3i +j+5k THaeiT afesr & dr A
%ﬁTIT:
4
6

— 7TF 65 % S, n Guial W o gt
S WHH T STAT 1 78 A1 n 1AM Id
LA

A. 6
B. 10
C. 11
D. 12

SPACE FOR ROUGH WORK / % &Td & for sre
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36.

37.

38.

The value of

4 tan_1 (l) — tan_1 (i) + tan_l (i)
5 70 99

equals :

A w/2

nl4

3n/4

5n/8

o o ®

The differential equation of the family
of circles with fixed radius 5 units and
centre on the liney = 2 is:

A (x=2)2(y)? = 25— (y—2)?
B (x-2)(y)? =25-(y-2)?
C (y-2)(y)? =25-(y-2)

D (y-2)2(y)? = 25— (y-2)?

If the eccentricities of the hyperbolas
2 2 2 2

X—Z—y—zzl and y_z_X_2:1 are

a b b a

e1 and e, respectively, then

Z[AZ+AZJ: .....
& &

©c 0o w >
2w N

36.

37.

38.

4tan_1 (lj — tan_1 (i) + tan_1 (ij
5 70 99

T | SHIT:

A. 7wl2

B. n/4

C. 3x/4
D. 5rn/8

a aft ST forra B 5 gerts a3,
WA W@y = 2 WG &, o TG A
STl FHIHIT EIT:

A (x=2)2(y)? = 25— (y—2)?

B (x-2)(y)? =25-(y-2)?

€ (y-2)(y)? =25-(y-2)

D (y-2)%(y)? = 25— (y-2)?
2 2

af sifemaeEt =Y =1 w
a b

2

2
y_2_x_2=1 T SRS AT €1 Td €,
be a

a2 %%}: .....
& &

A 1l

B. 2

C. 3

D. 4

SPACE FOR ROUGH WORK / % &Td & for sre
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39.

40.

41.

Find an optimal solution of the 39.

following Linear programming problem:
Max Z=8xq +7Xo
Subject to constraints:
3X1 + X9 <66,000
X1+ X, < 45,000
X1 < 20,000
Xo < 40,000
and x; 20, X, 20

A. x;=10500, X, =34500
B. x; =10000, X, = 35000
C. X, =9000, X, = 36000
D. x; =8000, X = 40000

The value of V/3 cosec20°—sec20° is 40.

equal to:

A. 4sin20°
sin 40°

B. 2sin20°
sin4Q°

D. 2

Complete solution of the differential 41.

2
equation OI—x+6d—x+9x =0 is:
dt?2  dt

A x= (¢ +cot) et

B. x=(c +cot+cgt?)e

C. et

x=15(cy + c2t)e_3t

feferRaa YRaes s @we #1 optimal
& 979 hifer:

Max Z =8xy +7X»
Subject to constraints:

3X1 + X <£66,000

X1 + X5 <45,000

X1 20,000

X9 < 40,000
and x; >0, x, 20
A. X1 =10500, x, = 34500
B. x;=10000, x, =35000
C. x;=9000, x, =36000
D. x;=8000, x, =40000

/3 cosec20° —sec 20° ST 9T EIT:
A. 4sin20°
sin 40°

B. 2sin20°
sin 40°

C. 4
D. 2

2
aa$aaﬁﬁmng—5+695+9x:oaﬂ
dt? dt

T & BRI

A. t

X = (Cqy +Cot) e 3

X = (Cy +Cpt +C3 t2) et

O

x =e 3t

)

X =15(cy + c2t)e_3t

SPACE FOR ROUGH WORK / % &Td & for sre
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42. The currents iy, ip,i3 and iz inan

electric network satisfy the system of
equations:

3iy +2ig—ig =60
2i1 —iy +4i3 =160
Aiy+ig—2i4 =20
5ij iy —2ig+iz =0

Find the current i3 :
A. 10 unit
B. 20 unit
C. 30 unit

D. 40 unit

43. N N
If a and b are two unit vectors such

- - - -
that a+2b and 5a—-4b are

perpendiculars to each other then angle

- -
between a and b is:

A. 45°

B. 60°

42, ok forega eadh B 9T iy, iy, i3 W iy frE
YR o Rt T Hge el &

3i; +2ig—is =60
2y —ip +4i3 =160
Ay +iz—2i4 =20
5i —ip — 2ig+iy =0

T 9T g T A BT

A

B.

43.

10 59TS
20 3TS
30 313
40 318
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44.  The differential equation of all circles

which passes through the origin and
whose centre lies on y-axis, is

A d
(xz—yz)%—ny=0

B. (x2 —y2)g—y+2xy:0
X

C. d
0 —y?) L —xy =0

d
(x2—y2)%+xy=0

44,

S AT AT STarhe THISRLT T &I AT foh

T forg & oA & T FSEet 5, y-3787

A0y Y oy -0
dx

B. (x2 —yz)j—y+2xy=0
X

C. d
(xz—yz)%—xy=0

D. (Xz—yz)j—y+xy=0
X

45.  The probability that A, B, C solve a 45. A, B, C % U & A T TTTIehaT sHUT:
problem 1/2, 2/3 and 3/4 , then the 1/2, 2/3 TS 3/4 & A 95 & & T
probability that the problem will be 5 o
solved is: Rl ’

A 1 A 1
24 24
B. 23 B. 23
24 24
C. 7 C. 1
12 12
D. 5 D. E
12 12

46. > > . . A 46. A S

The vectors ¢, a =xi+Yyj+zk and afesT ¢, a=xi+yj+zk W@ b =)@
- A - > = . - > =
b =jaresuchthat a, ¢, b forma TR R a, ¢, b Tk et e
%

right handed system then ¢ is gurreft fAfig s & ar E)-{ﬁrn
A zi-xk A 2i-xk
B. 0 B. 0
D. —zi+xk D. —zi+xk

SPACE FOR ROUGH WORK / T% &t & forr sre
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47. 47,

X X X X X X X X
8sin —cos—cos—cos— is equal to: 8sin —Ccos—Cc0S—CoS— =.....
8 2 4 8 8 2 4

A. 8sinx A. 8sinx
B. sinx B. sinx
C. cosx C. cosx
D. 8cos x D. 8cosx
48.  Find the values of k so that the system 48. ko 3 weft A F1a hifsr foraes forr
of equations ferferfaa avfierton o1 frem wen srfede
X+ky+3z=0 &S (non trivial solution) T&dT &l
:x+§y+jz=g X+ky+3z=0
X+oy+az= kx+2y+2z2=0
may have a non trivial solution. 2X +3y+4z=0
A3 A 5
4 "4
B 2,§ B 2 5
4 "4
C.,_5 c.,_5
4 "4
D _21_§ D. —2,—E
4 4
49. |f 49. =fg

15

(1+X)15 =Cp +C1X+C2X2+....+C15X 15

L+x)P = Co +C1X+ c2x2 +....+C15X
then the value of AT

Co+2Cq+3Cy +....+14C ¢ is:
2 3 4 15 C2 +2C3+3C4+....+14C15

A. 64329 1 HE B
B. 219923 A. 64329
C. 503146 B. 219923
C. 503146
D. 0
D. 0

SPACE FOR ROUGH WORK / % &Td & for sre
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50. Find the standard deviation of the set of

numbers 3, 4, 9, 11, 13, 6, 8 and 10.

A

S1. In case of frequency distribution with
bell shaped frequency curve, which one

O 0 W

491
4.24
3.24
3.91

is the correct statement

where QD = Quartile deviation,

52.  Fit a straight line to the following data,

MD = Mean deviation

SD = Standard deviation
QD > MD > SD
MD > SD > QD
QD >SD > MD

SD > MD > QD

(considering x as the independent
variable):

X

0 1

[ ]

y

1.0 | 1.8

3.3

4.5

6.3

©c o w >

0.72 +1.33 x
0.12 +1.53 x
0.33+1.72x
0.53+0.12 x

50. wwaredl s wq=aw 3, 4,9, 11, 13, 6,8, 10
% ford ae fare (S.D.) T Fifsr

A

B
C.
D

491

. 4.24

3.24

. 391

51. Ush St TR STCETRAT 5k o o,
TRFTRAT sied o ol f0 9 &l T aelt
%o &, SRt

QD = =qele forrer
MD = A1 e
SD = U femre

A

B
C
D

. QD>MD>SD

. QD>SD>MD
. SD>MD >QD

. MD>SD>QD

52. ffaRad kel o fofdl W @1 J1a

I, (x T T = A 8):

X 0 1 2 3 4
vy | 10| 1.8 | 33| 45 | 6.3
A. 0.72+1.33x
B. 0.12+1.53x
C. 0.33+1.72x
D. 0.53+0.12x

SPACE FOR ROUGH WORK / % &Td & for sre
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53.  The ratio of height of a cone having 53. i o g WS I o SATH T ST R

maximum volume which can be BT STeTfoh Ueh ieh, Teh et o X
inscribed in a sphere, with the diameter By S— W;@_ﬂ%
of the sphere, is: ’
A 2 A 2

3 3
B. 1 B. 1

3 3
C. 3 C. 3

4 4
D. 1 D. 1

4 4

54. Having given that 54. femmmTR:
X=cy+bz,y=az+cx,z=bx+ay, X =cy+bz,y=az+cx,z = bx +ay &l
where X, y, z are not all zero then the X, y, z Ot IR A 2 A
2, 12, 2 : e =
b 2ab
value of a“ +b“ +c“ +2abc is a2 1+ b2 +c2 1 2abe T HH A
A 0
B. 1 A0
C. 2 B. 1
D 4 C. 2
D. 4

55. 55.

The function x° —5x% +5x3 -1 is: f&m e weT x° —5x% +5x° —1 &

A. Maximum at x = 3 and minimum at

=1 A. x=3 T 3ITIM T x = | WIH

B. Minimumatx=1 B. x=1WIdH

C. Neither maximum nor minimum at C. x =0T dr Ioadqq 3T 7 & =aq
x=0 ®

D. Maximumatx =0 D. x =0T

56. Rank correlation coefficient lies 56. aife wawawd UTie foh a1 AHT o o=l

between which two values: forg BT 2

B. -1100 B. -1t00

C. 05t0+0.5 C. -05t0+05

D. -1to+1 D. -1to+1

SPACE FOR ROUGH WORK / % &Td & for sre
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S7. The area of the region bounded by the
parabola y = x2 +1 and the lines y =X,

x=0andy=2is:
A. 2sg. unit

B. 2 sg. unit
3 5

98. Find nif [n+2=2500 n :

A. 25
B. 49
C. 73

D. 99

59.  The differential equation of all circles
passing through the origin and having

their centres on the x-axis is

y2 =x2+2xyd—y
dx
B. y2 = x2 —2xyd—y

dx

x? =y2+xyd—y

dx

x% = y2 +3xyd—y
dx

S7.

58.

59.

Wy:XZJrlQEﬁ'@T?:ﬁy:x,x:O
e y — 2 35 v R, 81 1 et T

A. 297 9eh

B. 2

gfe |n_+2 = 2500 In dl n kT {4 BAT:

A. 25

B. 49

C. 73

D. 99

3 |l ol ohT SFerehet WEteRT, ST A forg
TSI & AT ST ohet x-378 T &

A. dy

y2 =x% + 2Xy —
dx

y2 =x% - 2xyd—y
dx

c. x? = y? +xyd—y

dx

X2 = y2 +3xyﬂ
dx

SPACE FOR ROUGH WORK / % &Td & for sre
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%0- Minimum value of sin® 6+ cos® 0 is: %0: §in® 9+ cos® 6 ar =gam T 2
A. 0 A 0
B. 1 B. 1
C. 1 C. 1
2 2
D. 1 D. 1
4 4
61. If on an average, 2 customers arrive at a 61. 3fe ush U 4T 0, e 2 Tesh, Tt
shopping mall per minute, what is the | firte T oTrar & | SHehT 3T WTRiehdT 2
probability that in a given m_mute, _ i fpeft | e &, exactly 3 e, SHRFT
exactly 3 customers will arrive. [using o~ ) .
Poisson probability rule] given that et H ST [ S il ST ]
e ™2 =0.1353: Steifep feam € fop 672 = 0.1353:
A. 0.1804 A. 0.1804
B. 0.1353 B. 0.1353
C. 03235 C. 0.3235
D. 0.1240 D. 0.1240
62. A man 1.5m tall is 28.5m from chimney. 62. 1.5 et oAwT Uk S h, o & 28.5 mg
The angle of elevation of the top of the geT R R F ATaT & fmt & 3 o
chimney from his eyes is 45°. What is ’ o % et B S 2
the height of the chimney ? FT450RA # et
A. 45m A. 45m
B. 30m B. 30m
C. 15m C. 15m
D. 90m D. 90m
63. A basic solution is said to be non 63. U ek B, Th AHA-fesie dfdeh g
degenerate basic solution if: Fedar & afe
A. none of the basic variable is zero N .
B. at least one of the basic variable is A arsng:rg‘r
zero B. %W ¥ FH UTF sfeeh <A &l
C. at least two of the basic variable are .
2610 C. AU FH A ¥ A&l
D. at least three of the basic variable D. wﬁagqeﬁ:réﬁsﬁatmgﬁ
are zero
SPACE FOR ROUGH WORK / T% & & ferar wirg
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64. - - > 64. - - >

If a, b, ¢ are unit vectors then afe a, b, ¢ SR A
- > - - - -
|a-b P +|b-c[>+|c—al|” does |a-bP+|b-CP+|c-al?Fam
not exceed: T o 9, for ek @ SaTer T & HeRaT 22
A 4 A 4
B. 9 B. 9
C. 8 C. 8
D. 6 D. 6
65. . 65. , ,
If x and y are two unit vectors and afe x Td y < IHTE Al TATIHT 6
¢ is the angle between them, then
L5 5 aﬁ%rwaﬁwq)%?ﬁéﬁ—m?ﬂm
=] x—y | isequal to:
5 | x—y | isequ ST
A. 0 A 0
B. T B. T
2 2
C. sin9 C. sing‘
2 2
D. ‘cosg‘ D. ‘cos9
2 2
66. 2 2 66. 2 .9
The parabolas y° =4x and x° =32y AT y© = 4X Td X =32y Teh gH H
cuts each other at (16, 8). If the angle (16, 8) W HTed 8| A< 37 T & sfi=r hior
between them is 0, then 6 equals to: 0 Brar O 1 HE BN
A. “1(3
tan (E) A. tan_l(g)
5
B. —1( 4
tan (Ej B. tan_l(g)
C. =« C.
D. n/2 D. n/2

SPACE FOR ROUGH WORK / % &Td & for sre
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67.

68.

69.

If the coefficient of X’ in the expansion
11
2 1 .
of (ax +—j is equal to the
bx
coefficient of X~ in the expansion

1 11
(ax——zj , then a and b are related
bx

If sin20+3cos0—2=0 then the value
of cos®0+sec30=..... is:

A. 18

If 3sin0+5c0s0=4, find the value of
5sin0—-3c0s0:

A +2

B. +2v2

67.

68.

69.

11
afe (ax2 +bi] @it x' i,
X

1 11

(ax—b—zj v x 7
X

SHIeR 2, T a Td b Hrelf-erd 2l

A. ab=1

B.

gfe sin20+3c0s0—2=0 Bl
cos3 6+sec3 0=..... EFrﬂTvr‘iﬁTﬂ:

A. 18
B. 9
C. 4
D. 1
4

gfe 3sin0-+5c0s0=4 df 5sin0®—3cos0
T | SHIT:

A +2
B. +2v2

C. +3v2

D. +442

SPACE FOR ROUGH WORK / % &Td & for sre
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70.

71.

72.

A particle moves in a straight line in 70.

such a way that its velocity at any point
IS given by v2 = 2—-3x, where x is
measured from a fixed point. The
acceleration is:

A. Uniform

B. Zero

C. Non uniform

D. Indeterminate

The value of 71.

ol 8o 2]

A 6

The number of solutions of the equation 2.

tan*0—4tan?0+3=0 , between 0° and
3600 is:

A 2
B. 3
C. 8

D. 12

Teh 0T, Ush T @1 H 36 TR  TTidqH &

fop gmeht am, Freft g v2 =2-3x
STet x T gl @ i fof Uk feert foreg & 7o
STTAT &, 7 SEehRT ol S

A. TH
B. I

C. U gqe =&
D. 1fHfaa

cot [cos_l (gj +tan~t @ﬂ T S

A 6

0° TS 360° & si=r Getemor

tan? 0—4tan? 0 +3=0 ¥ gt T T
2

2
3

8

o o w »

12

SPACE FOR ROUGH WORK / % &Td & for sre
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/3. Find the particular integral (P1) of the 73.

differential equation

3
IThcT GHTSHTOT OI—y+4d—y:sin2x *

3 dx3 dx
Y Y inox farfiTe aTeRer (PI) F1a HIRAY;
dx3 dx
A. X . A 5sin2x
—sin2x 8
8
_Xsin2x —2sin2x
8
C. X cos2x C X cos2x
4
D. —KCOSZX D. —§C052X
4 4
74.  The value of the integral 74. nl4
/4 J T sin™* x dx =T AT Brm:
I sin~? xdx is: -n/4
-n/4 A E
A 3 2
2 B 8
B. _§ ' _§
3
C. 3 C. 3
g 8
D. 8 D. 8
3 3
> If y—sec_l[—&+1]+sin_l(—&_lj > gfe y—sec‘l[—&ﬂjﬂin_l[—&_lj
Jx -1 Ix +1 Jx -1 Ix +1
then d_y: ....... d_y: .......
dx dx
A 1] A. 1
B. 2 B. 2
C. 3 C. 3
D. 0 D. 0
SPACE FOR ROUGH WORK / T% & o fo1a sirg
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76.

77.

78.

The following system of linear
equations

X1 +2Xy +X3=4

2X1+X2 +5X3 =5

can have at most ---------- basic
solutions.

A 0

B. 1
C. 2
D. 3

The shortest distance between the lines
x—3: y—8:z—3 and
3 -1 1
X+3 y+7 z2-6 is:
-3 2 4

A. 270
B. 270
C
D

330
|
3v/30

A pack of cards contains 4 aces, 4 kings,
4 gqueens and 4 jacks. Two cards are
drawn at random. The probability that at
least one of them is an ace is:

A 9
20

76.

77.

78.

freferfaa Wl gt =1 fem
X1+2X2 +X3 =4

2X1+X9 +5X3=5

FATreRdH fohd Basic g1 T Hehdl 87
0

1

2

o o w >

3

. X-3 y-8 z-3 __.
e X =
3 -1 1 A

X+3 y+7 z-6 S -
-3 2 4 S0

A. 270
B. 270
C
D

E

3v30
o1
3v/30

IS o Teh Uk U 4 SaFhT, 4 T, 4 THT T
4 SRt & 2 TS ATg=T fHehTeAT STTaT & a
SEeh! )T STRIHAT a1t foh hH & 3 T
Serent foiehat:

AS
20
B. 3

16

Ol ol

SPACE FOR ROUGH WORK / % &Td & for sre
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79. If the probability of defective bolts be 79. s @Ue diee B it WiRreRdt 1/10 ®

1/10 t_hen f_ind t_he _stan_dard deviati(_)n for WU died] o feue de & ford ure fameq
fre Sinomialdiitiono e Dy B s ez s

A. 40 A 40

B. 6 B. 6

C. 0.133 C. 0.133

D. 0 D. 0

80 The area bounded by the curve x2 =4y 80 g x2= 4y TS TAT x =4y —2 ¥
and the straight line x =4y —2 is fer &3 T &t I
8 sg.unit A8 ECURCaH
9 9
B. 9 sg.unit B. 9 ECURCaH
8 8
C. 4 sg. unit C. 4 CURCIH
3 3
b. 3 sg. unit D. 3 T gehlS
4 4
81. 5a -b ) 81. 5a —-b] . .
IfA:[3 2}and AadJA:AAT, aﬁA:[S 2}QarAade:AAT
then 5a + b is equal to: T 5a + b T A B
A -1 A -1
B. 5 B. 5
C. 4 C. 4
D. 13 D. 13

SPACE FOR ROUGH WORK / % &Td & for sre
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82.  Area of parallelogram whose adjacent 82. GuI=R YT 1 &, FSreeh STe=
. - A ~ A - A A N —> A A A
sidesare a =1i+2j+3k and ST a =1+2]+3k T b =3i-2j+k
= A A oA 3 :

b =3i-2j+k, is: €, 3.

A.
A. 52 sq. unit 5V2 =i g
B. 83 sq. unit B 8v3 arf
C. 6 sq. unit C. 6T 3HS
D. /3 sq. unit D. /3 anfzarg

83. If the probability of A to fail in an 83. afe foret udiear o A o et B ST ITTehdt
examination is 0.2 and that for B is 0.3, 0.2 & 1% B % el 819 BT TRshaT1 0.3 &
then the probability that either A or B 1 et i T e 41 @nfl o 1
fails in the examination is: .

A IT B H T Teh el &
A. 0.50 A 0.50
B. 0.06 B. 0.06
C. 044 C. 044
D. 0.56 D. 0.56

84.  The equation to the straight line passing 84. @I 5x—6y-1=0 T&w@r
through the point of intersection of the 3X + 2y +5=0 % Ufeee forg & g
lines 5x —6y—1=0 and 3x+2y+5=0 SIS e & T G G\ﬁi@T
and perpendicular to the line y
3x -5y +11=0 is: 3Xx—5y+11=0 ¥ raad &, SHHT

gefieRToT 20
A. 5x+3y+8=0
A. 5x+3y+8=0
B. 3x-Sy+8=0 B. 3x-5y+8=0
C. Sx+3y+11=0 C. 5x+3y+11=0
D. 3x-5y+11=0 D. 3x-5y+11=0
SPACE FOR ROUGH WORK / T @t & forar g
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85. The probability that in the toss of two 85. S UTHl hl IBTA I, THhT T UTHRIehdT

dice, we obtain the sum of 7 or 11 is: 2, fr gd T 74 11 yTw A
Al A 1
0 6
B 1 B. 1
18 18
C. 2 C. 2
9 9
D. 23 D. 23
108 108

86. Find the average deviation about median 86. farAifera forawor o forr west forrem,

for the following distribution: TTTRTeRT 3 TTET T ShITT:
x16/ 12118 24130364 x [ 612 [ 18] 24 [ 30 36 | 42
fl4]7 ]9 [18]15]10]5 Fla] 7 91815/ 10]35
A. 240 A. 24.0
B. 125 B. 125
C. 46 C. 46
D. 75 D. 75
87. 1f Ay, A, are two arithmetic means 87. gieidEmeiawdbwhsia A T A, &
between two numbers a and b then aoiae AT Edr (2A1 —Ar) (2A, —Aq)
(2A1-A5) (2A5 —Ay) is equal to: T 9T S
A. a+b A. a+b
B. ab B. ab
a+b a+b
C. ab C. ab
a—b D. a-b

SPACE FOR ROUGH WORK / % &Td & for sre
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88. 88.
The value of cot 19+ cos ec‘lg IS cot 19+ cos ec‘lg T 0T BRT:
A m A
2 2
B. n B. n
3 3
C =n C n
4 4
D. = D. n
89, The points with position vector 10i +3j, 89, forg forer Rty wfem swrsr: 101 + 3],
12i -5, ai+11j are collinear, if a 12i -5j, ai+11] ¥@ &, Ifca=".....
equals :
A -8
A. -8
B 4 B. 4
C. 8 C. 8
D. 12 D. 12
90. The differential equation whose solution 90. e T R E Ax2 4+ By? =1
is AXZ + By2 =1, where A and B are 2 ST&T A Ud B arbitrary feertisr €, a8
arbitrary constants, is of: ST GHISHT B
A. second order & second degree A. fedia hife ua fadr ard st
B. first order & second degree B. W hifd Us fedfiar ena =1
C. first order & first degree C. JW I Td T HTd T
D. second order & first degree D. fgdi™ =ife wa wrom =7 s

SPACE FOR ROUGH WORK / % &Td & for sre
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91. —Qj
IF Lim tan 2x —sin 2x
Xx—0 ﬂ

kis:
A.

=Kk, the value of

il
3
1

O w

1
4
D. 4

02. 2
If Lim {X 1
X—o0| X+

—(ax+b)} =0 Then the

valueaand b are :
A a=1b=1

B. a=1,b=-1
C.a=-1,b=1
D. a=-1,b=-1

93. Letf:R—R and g:R >R (where R

is the set of real number) be continuous
functions then the value of the definite
integral

/2
I= I [F () +f(=x)] [9(x) —g(=x)]dx

—7t/2

91.

92.

93.

Lim tan 2x —sin 2x _K, KFIAE

x—0 x3

O W
Nk P oo

o

gfe Lim

X—>0

a T b o A BT

2
{X +1—(ax+b)} —02d

X+1

A. a=1b=1

B. a=1,b=-1

C. a=-1,b=1

D. a=-1,b=-1

Ik f:R>R W g:R >R (W& R

aTEdfare TSl 1 T §) ad Berd o

ar fefaRaa fFfsra awmsher 1 9 g
/2

| = I [f (%) +F (=)][9(X) - g(—x)] dx
—nt/2

A T

B. 1

cC. -1

D. 0

SPACE FOR ROUGH WORK / % &Td & for sre
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94.  Given the equation of two circles 9. ety griE X2 iy =’
2 2 :

2
X“+y“=r-and .
) y2 X2 +y? —10x+16=0 RA T & r ¥
X“+y°—-10x+16 =0. The value of O 3 o1 3 ot e fores el iy
r such that they intersect in real and %-‘q’sﬁqt@acﬂiﬁﬁ-
distinct points, is given by: > & '
2<r<8 A 2<r<8
B. r=2 B. r=2
D. r<2andr>8 D. r<2andr>8

95. If one end of a diameter of the circle 9B 12 +y? —Ax—6y+11=0 ¥ =
x2+y2—4x—6y+11:0 be (3, 4) then %@W%@G, 4)%3}3143;[33“
the other end is: siferg fore BT
A. (0,0) A. (0.0)

B (L) B. (1,1)
C. (1,2 c. (12
D. (2,3) D. 2.3)

96.  An integer is chosen at random from 96. 5o non zero YTCH JUITeRT H & Teh qUTish
first one hundred non zero positive ATG=SAT T STl &, SEsh! T TTRIehdT
integers. Find the probability that the SH7 g Fopet 2l U S A O B
integer chosen in either a multiple of v e 2
5 or a multiple of 7: 7H R
A. E A. l

5 5
B. l B. l
50 50
c. 17 c. 17
50 50
D. 8 D. 8
25 25

SPACE FOR ROUGH WORK / % &Td & for sre
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97.  The greatest value of the function 97. X 11
X 11 WF(X)=I|t|dt6Fr3ii?lTlFf[——,—}
F(x)zj|t| dt on the interval [—— , —} 1 2 2
1 2 2 3 TrETH T 2R
IS given by:
A. 3 As
T = 8
8
B 1 B. %
2
cC. 3 C. _3
) 8
D. 2 D. E
5 5
98. Thg solt;tion of the differential equation 98. gt Tl (x2 —y?)dx - xydy =0
(x“—=y“)dx—xydy=0 T &1 BITTT:
A. x2(x2—2y2)=c A. x2(x2—2y2):c
B. x4(x2+2y2):c B. x4(x2+2y2)=c
C. \2(x2_2y?)=c C. y2x2_2y?)=c
D. y4(x2+2y2)=c D. y4(x2+2y2)=c
99. The system of linear equations T wHieRT o Ter
X-y+32=6 X—-y+32=06
X+3y-3z=-4 X+3y—-3z=-4
5x+3y+3z=14 5x+3y+3z=14
has: F T &
A. Infinite number of solutions A. AT
B. No solution B. g Tal
C. Unique solution C. Afgd e
D. Exactly three solutions D. %ad diF gt
SPACE FOR ROUGH WORK / T @t & forar g
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100. The line x+y =4 divides the line 100. @r x+y=4,fg (-1,1) @ (5,7) %

joining the points (-1, 1) and (5,7) in StreaTed Tt st T 21ara & fearfora
the ratio : AT 2 i

A 2:3 A 23

B. 1:2 B. 1:2

c 1:1 C.1:1

D. 4:3 D. 4:3
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PART - 11

Computer Awareness hIICT STTEhdT
101. There are occasions when it does not 101. UH TR BId & ST AT I %eh el ugaT foh
matter if the function produces 0 or 1 for et foret 2T T Minterm % foT@ 0 9T 1
a given minterm. Minterm that may St (Mi
produce either 0 or 1 for the function are ¢ 3 (Minterm) Sﬁ ¥
said to be- fAT A Y 0 3T 1 Ieq= T Hehal &, g ST
g
A. Careless conditions .
A. Fate Rfat
B. Don’t care conditions B SRR
C. Minterm conditions C. Rt s
D. Maxterm conditions D. dgged sfesm
102. Which operating system is used for a 102. FeTge-ga Aeaeh o foru fore strqefe
Client Server Network? %’{Q‘qq;[gq’qﬁqﬁﬁq‘[m%‘)
A. Linux A. %qqr\q
B. Windows XP B. faveis waad}
C. MAC C. %
D. Windows 2000 D. favers 2000
103. Which hierarchy of operators is used in 103, ff et H ST i -1 BTRSTTR
C language? IYAT <hY ST 87
A +-1x* A +—/x
B. /[x+— B. /x+—
C. */+- C. */+—
D. #+—/ D. *4+—/
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104. It rearranges the files and free space on 104. sHreget # wrgel 1 Tk T ol O:

the computer, so that files are stored in TSI LT 2 Tfeh BTeet Pt § ST
computer and free space is consolidated 1S Tk $2014 Ush BT st 1 it
in one contiguous block, and also speed .
up the disk access. What is it? S ST e wererar bt oft 1fer it &) o1 T
?
A. Disk Cleaner
A. fowh Tl
B. Disk Defragmenter B Fros Rt
C. Backup C. dwa
D. File Management D. ®TEd BaeTie
105. Which signal is used by control unit to 105.  sprepet fireew sht 311 vt el hi
control all other units of computer Feifarer s 3 forg gt e g forar
system? Tt T SURT foRAT ST 89
A. Copy signal A et e
B. Command signal B wuie e
C. Timing signal C. erfi Rrer
D. Transfer Signal D. T foret

106. What is the size of character data type in 106. ff AT | HLFT STET TS ohT TS T

C language? T 82
A. 16 bit A. 16bit
B. 4bit B. 4bit
C. 8hit C. 8bit
D. 2 bit D. 2bit
107. A flip flop is capable of storing 107. ue foetT FeATa B SAHRATM HUE A T
information of --------- AT BIAT & —memmeme
A. Zero bit A. Zero bit
B. Eight bit B. Eight bit
C. Four bit C. Four bit
D. One bit D. One bit
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108. What is used to increase the apparent 108. fepfoTeret AHIY o TIY SATHR T IGM & foTw

size of physical memory? TRt ST foRaT STTaT 89
A. Disks A femra
B. Hard Disks B. T fem=g
C. Secondary memory C. e Ay
D. Virtual memory D. aere qurl
109. The BSA instruction stands for... 109. sftugu fAesrRraed 2.
A. Branch and show accumulator A. = TUS I TR
B. Branch and store accumulator B. W@g@'{wﬂﬁz{
C. Branch and save return address C. = ue 49 fied ugw
D. Branch and shift address D. i wwe fitee tw
110. Which of the following I/0 device is a 110. frmferfaa ® & H-|1 /O fearsa
block device? TR TeaTed 89
A. Mouse A OSE
B. Tape drive B. JUgEd
C. Line printer C. e fiex
D. Key-board D. dEe
111. Which is a permanent memory of 111, roge it s o Ao Tomft 2R 3 S
computer that is non-volatile and T FIeTed & 99T ST e % o¢ a1 ot off
oo umed ot e i
A. Read Only Memory A. e sirefl 3
B. Random Access Memory B. Tew T Al
C. Dynamic Random Access Memory C. SrIfirs: toH T T
D. Cache Memory D. #=TaAR
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112. (3CD)1 =(?g 112. (3CD)16 = (?)g

A. 1571 A 15T1
B. 1715 B. 17135
C. 1751 C. 1751
D. 1517 D. 1517
113. Which is used to play games on the 113.  [orErshT SYANT P H W W o [eTg
computer? It consists of vertical stick forarm STTaT €2 sod cieed vel Bidt 8, v
that is moved to control objects on the N N .
computer screen. ~ %
_ SISEIRISIGIE
A. Light Pen A @ee i
B. Mouse B, H3q
C. Joystick C. Soeds
D. Graphics tablet D. Ufhad dolcie
114. which of the following is used in 114. e & & o6 @ e il 3 shrogen
second generation computer? gqﬁqé-an o2
A. Vacuum tube A. éaaqg:[‘{q;\&[
B. Transistors B. zifswet
C. IC C. 3sHt
D. Microprocessor D. HIZhITEET
115. Which type of instruction address is 115. &2 ATTATESIS HFST ST o TohT
used by stack organised computer? FRET WY () BT ST kT STl 89
A. One address A. FTTSH
B. Two address B. g\@q
C. Three Address C. sfivgm
D. Zero Address D. SugH
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116. Which is not the function of primary 116. ¥ o1 YAl BORY <1 R T 82

memory? .
A It h);lds the result of processing A TR GO T &
B. It holds the processing instructions B. 71 STfsha o e bl Toat &
C. It hold the data being processed and C. Ig ggrird foru ST <rer i afskam
the inte'rmediate results of 1 geradt fony TEar &
processing
D. It holds the file permanently D. 7% HIEe shl Tl ¥4 & T@dl &
117. 1 gigabyte is equal to -------- 117. 1 TfrTeITse o SeR AT @ —-mmmmeev
A. 512 Megabytes A. 512 TITETEeH
B. 1024 Kilobytes B. 1024 ferctiamged
C. 1024 Terabytes C. 1024 &g
D. 1024 Megabytes D. 1024 BETSeH
118. Which is a computer program that is 118. & |1 et T 8 o T M TR
designed to perform a certain type of ¥ T o ToTT ST T 89
work?
A. Application software A TR A
B. System Software B. fowew AT
C. Language processor SR RIEEN
D. None of these D. IWIh H ¥ g T
119. Main memory address is known as ------ 119. A9 TR} UgE STHT SITAT & ------
A. Logical Address A. ATsfiehd Tgd
B. Physical Address B. fhsiieret ugw
C. Memory Address C. "ot ugd
D. Word Address D. IS ugH
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120.

121.

122.

123.

Source program is compiled to an
intermediate form called -------

A. Machine code
B. Smart code
C. Byte code

D. Executable code

Pictorial arrangement of the truth table
is called --------

A. Kmap
B. Sequential circuit
C. Combinational gate

D. None of these

What will be 9's and 10's complements
of the 438 decimal numbers?

A. 561, 562
B. 551, 552
C. 461, 462
D. 571,572

Which of the following executes the
program and controls different part of a
computer such as memory, input and
output devices?

A. Central Processing Unit

B. Arithmetic and logic Unit
C. Control Unit
D

. Registers

120.

121.

122.

123.

A ST T TS i 2T Sefeue

31
:

. TR S

T AROM (Truth table) T Gfe=0T Sqa€en

A

B. SAshite Hihe

C. A

D. 378 ¥ 1S T

SHIAE €T 438 T 9's R 10's T
(complements)wm?

A. 561, 562
B. 551, 552
C. 461, 462
D. 571,572

foret 7 & =i S =t freonfee shear 8 o
HFRIZL o ToIl¥=T T S T, 3992 3R
AT3eqe fearsem ot Feif wrear &2

. Hrgd TR g

. Ao SR Ao e

heier g

e

© o w >
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124. Which number is Normalized floating 124, 1 ©f Hea amT=iteRd wAlteT dise 9Ea

point Number? &

A. -6

B 0.0011011x2® B. 0.0011011x 2
C- 0.38695x107 C. 0.38695x102

D. 0.0006378x107* D. 0.0006378x107*

125. Which of the following is fastest 125. fmaferfaa o @ i t redee Jar 82

memory?

A
A. RAM
B. Tape drive B. T